CARDIOPULMONARY EXERCISE TEST DEFINITIONS
VO2 (L/min)
The volume (V) of oxygen (O2) that is utilised during exercise. When expressed as L/min, this is an absolute value, making comparisons between individuals difficult due to disparities in lung volume, age, gender, etc. Therefore, we typically report VO2 expressed as a relative value, normalised for body mass (ml/kg/min). As exercise intensity increases, this will too in a fairly linear fashion. 
VO2/kg (ml/kg/min)
This is the volume of oxygen that can be taken uptake and utilised during exercise, expressed relative to an individual’s body mass. The 50th percentile in males aged 20-29 is 44 ml/kg/min. 
VCO2 (L/min)
The volume (V) of carbon dioxide (CO2) produced during exercise. This will increase during exercise as the intensity increases, again in a relatively linear fashion. However, this eventually outstrips VO2 and begins to increase in a disproportionate manner, signalling that an individual is working hard. 
VT (L)
Tidal volume, measured in litres. The volume of air exhaled with each breath.
BF (breaths/min)
Breathing frequency, the number of exhalations per minute. 
VE (L/min)
Minute ventilation. The product of tidal volume (VT) and breathing frequency (BF); the amount of air exhaled per minute. 
VE/VO2
The ratio between ventilation (VE) and oxygen uptake (VO2); a measure of oxygen uptake efficiency. As both parameters are measured in L/min, the subsequent value is a unit-less ratio. 
VE/VCO2
Ratio between ventilation (VE) and carbon dioxide production (VCO2); a measure of ventilatory clearance/efficiency. Again, as both parameters are measured in L/min, the final value is a unit-less ratio. 
RER
The respiratory exchange ratio. This is the ratio of VCO2/VO2. As both are measured in L/min, this is again a unit-less ratio. This give us an insight into fuel usage during exercise (i.e. burning of carbohydrate/fat), but also of intensity – is the participant working hard? Resting values are between 0.7 and 1.0. Once the RER increases above 1.0 (i.e. when the VCO2 is increasing disproportionally to VO2), we are given the indication that the individual is exercising hard and working maximally. 
HR (beats/min)
Heart rate, measured in beats per minute. Typically, maximum heart rate is accepted to be around 220-age. I.e. a twenty year old would have a predicted HRmax of 200 beats/min.  
PetCO2 (mmHg)
End tidal carbon dioxide, the partial pressure of exhaled CO2. 
PetO2 (mmHg)
End tidal oxygen, the partial pressure of exhaled O2. 
FEetO2 (%)
Fraction of end tidal O2
FEetCO2 (%)
Fraction of end tidal CO2
METS
METabolic equivalentS. An indication of how much above baseline an individual is working. 1 MET is equal to rest, moderate activity between 3-6 METS and vigorous activity above 6 METS. Therefore an activity like fast running is around 7 METS, implying an individual is working seven times harder than when at rest. 
Work Rate (column AW) (Watts)
[bookmark: _GoBack]An indication of the power an individual is working against. 




